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egori—|
. VOTTI BB V.

A) BRI B) C) 03¢ D) 3,03,

. 8T HBNP0T BRBT BT, .

A) 303 BT, B) IV C) 3nY D) &0

. SDBIT B3, B, 33 TSD.

AD0Z  B)BIJID C)RBD D) DoGBD

. DR BBB 3D AR,

-

A) 3 B) ®€3 C) @063 D) ®0¢?

DI IBTODHES D0Y.

A) 312D o B) e883¢3 S00
C) rbes Jod D) edeexs Jof

. 'D0Z90HB, IST” SISNY 9033,

A) &gy 30T B) B0ehdd,e3.0
C) ToNB D) 3OTe3

- 'edrt B’ 85 BN S T,

A) BBF SR B) $OONTH
C) BB D) RP¥D ToB

. JoBeea, T, B8ZabE Bw0Ted PeSINFD, WIS 6 033
D83 BRTAY VYD Je 3%,
A) BVTTEd B) D053 eE S

C) wosReus D) 82933




9. 'SR, 08,0 SWoDT SoNW WDHIL' YODS &0ewT.
A) 000 B) 3 -0 C) Son%v D) 2ID

10. "090m’ BB BITWB, B3 Yomdbord 2003,

A) 98e)* B) apedeNes® C) @ofes® D) ﬁo%é

11. Fpedrad See3odd e3ed3d FpoBW. MY VS STTODS <)e3d:

A) 3)3ead B) 023D C) &,3ead D) [BD

12. SR AT 3etdrde FoBIY 8 DBT TV, BPEETLRD.
A) QL8R woeTEeR) B) 50300 el Jerded)
C) &yeorie) Ned wardedy D) 33 B3 Ded T eI

13. &=, DD DD 5o BRID. VY 10 OVE SBBOD @9 BTH03:
A) 3 B) 7930
C) Beerdahd D) &350l

14. '3 ITT 953k
A) B3I B) I C) Tt D) o)

15.931Y0 83 BERIE, CUTIBOHRNRG SBID.
ARS  B) D3eB C) D@0 D) HHAO

16. ‘oxtee 900D OTAN ©AF, IRCO WIY DS
B DB BODE IS0,

A) Bo0ED0T B) ST
C) 3 D) 933

skekskekek




a. Students are listening to music

b. Students are playing in the field

c. Students are eating mid-day meal at school
d. Students are reading the newspaper

2. “Delighted” means

a. Praise  b. Confuse c. Happy d.Remember

3. Wilma Rudolphis famousas

a. The runner on wheels
c. Black gazelle

4. Choose the type of sentence
Madhuri is Singing

a. Affirmative sentence
c. Exclamatory sentence

b. Disabled person
d. Wrestler

b. Interrogative sentence
d. Negative sentence

5. “Coromandel fishers” This poem is writing by

a. Kamala das
c. Sarojini Naidu

6. Plural form of tooth is

b. Anitha desai
d. Shashi deshapande

a) Tooths b) Toothes c)Teeth d) Teeths




7. Identify the silent letter of the word “doubt”

a. d b. t c. b d. u

8. ldentity the parts of speech of the underlined word.
Rahul's father welcomed him happily

a. Noun b. Pronoun c. Adverb d. verb

9. prevent, problem, present, product
Arrange the above words in dictionary order:

a. problem product present prevent
b. present prevent problem product
c. present prevent product problem
d. product problem prevent present

10. Madhuriis a actor.
fill in the blank with suitable objectives.

a. Beauty b.Beautiful c. Beautifully d.Beauty’s

11. Select the suffix that can be added for the word.
Wonder

a. ary b. ful C. ness d. ment

12. Past tense of “swim” is
a. Swum b.Swam c. Swimmed d. Swim

13. Sachin is playing in the ground.
pick out the subject from this sentence

a. Is b. Playing c. Sachin d. Ground




14. The emperor was fond of

Q

Hunting the wild animals
Attending the meetings

b
c. wearing new clothes
d. Weaving new clothes

15. Only we grown-ups are silly “the question tag to this statement

”

is
a. Aren't we? b. isn'tit?
c. Are we? d. Isit?
16. Ravi is going to his uncle at stall
a. meat, meet b. meet meet
c. meet meat d. meat meat

skekskkek



gon-—lil

7 4 7
A) - 2 B) - C) 2 D) O
7.
The additive inverse of - Z IS
7 4 7
A) - n B) = C) - D) 0

2. 15675 & Sreripdmen S DB TIST

A) 3 B) 7 C) 1 D) 5

The unit digit of the square of the number 15675 is

A) 3 B) 7 C) 1 D) 5

3. BYNSYYO @O Wt Koadodw
A) 1313 B) 1331  C) 1133 D) 3311
Which of the following is a palindrome number

A) 1313 B) 1331  C) 1133 D) 331

4. 3 3B, VI, B0,
A) 1 B) 3 C)5 D) 2
The least prime number is

A) 1 B) 3 C)5 D) 2

5. 0.37 &), - Gesng wdwn

37 37 370

A) 10 100

By writing 0.37 in % form

oh

370
100

370
100




6. V3 x V7 323
A) V21 B) 3v7 c) 73 D) V10

The value of \/_ x \/7
A) V21 B) 3v7 c) 73 D) V10

7. (52)% + 53 =y DerIteas, Sowen
A) 5° B) 52 c) 5° D) 5°

Simplified form of (52%)3 + 53
A) 5° B) 52 c) 5° D) 5°

8. 64 O I
A) 8 B) 2 C) 4 D) 64

The cube root of 64 is

A) 8 B) 2 C) 4 D) 64

9. BoaAIODES Byoriny Josd
A) 1 B) 2 C) 3 D) 0

Number of vertices in a cone

A) 1 B) 2 C) 3 D) 0

10. 2000 BOBYT WoFTR, 0w 290 LVTDHVIWN B0,
37 2BdS TGS




1. 2,00 B0 HITRTT ITY 80 e/ Moedrt BOITT,
T 30 ADRITY @), BT BOWIT.

A) 60 km B) 20 km C) 40 km D) 10 km

A train is moving at a uniform speed of 80km/hour. How far it will

travel in 30 minutes.

A) 60 km B) 20 km C) 40 km D) 10 km

A) Binomial ~ B) Monomial ~ C) Trinomial D) None of these

13. YA 0o Fwedh eI drbudcl JB¥cswOR)
A) 50°, 60°, 70° B) 65°, 75°, 55°

C) 57°, 64°, 79° D) 60°, 70°, 80°

The set of angles that can be used to construct a triangle among

the following

A) 50°, 60°, 70° B) 65°, 75°, 55°

C) 57°, 64°, 79° D) 60°, 70°, 80°

14. 3,4,5,6,7,3,4 & 33203NY 53903

A) 5 B) 4 C)3 D) 6

The median of the data 3,4,5,6,7,3,4, is

A) 5 B) 4 C) 3 D) 6




15. a? - b? I BIBEIND
A) a?-2ab+b? B) (a+b)(a+bh)

C)(a+b)(a-b) D) (a-b)(a-b)

Factors of a - b? are
A) a®-2ab+b? B) (a+b)(a+bh)

C)(a+b)(a-b) D) (a-b)(a-b)

16. 20633 BIBTO ST 83 233, IR

AN
Q\\
\\\\\Qm° TB“\\\
B (]
A)AB  B)BC C)AC D) |A

skskskkek




won—-1V
L 202) BeTRTIED AN AFTF, LEMONLY TTED

Q) éec;%ef @ei.r%@mef Q) AT
R) CRIT & ®) NRERCX

An athlet suffer from muscle cramp is due to
a) Ethyl e alchohol b) water

¢) Lactic acid d) glucose

2. BRITON WTRBI), BERPYTE, LeRTYHP
Q) @dséseédsa Q) TV @ds'%e%ds@
) TWLRNITED Q) wTe, I

Growing of new forest is called
a) aforestation

b) Reforestation
c) desertification

d) deforestation

3. ©303PT TEAPODNAT MPYTNY WHBWOT BEFT Ty

D) BRI Q) TIALEODTOMTT
) 3@35@@713%53 Q) &IOS

Excessive use of chemical fertilizers makes the soil
a) Acidic  b) basic c) neutral  d) Alkali

4. 33 3YNT O3PT/ VIVF) WRT YT, TIT 298 STLNTT.
2) CO, Q) SO, 2) NO2 &) CO
Which of the following gas turns lime water to milky

a) COz b) SO2 c) NO; d) CO

5. 20T T 240 .50¢ TRTB/IY, 4 NMOENYY FATT 0T WIY)

Q) 40 8.80¢/n0Ed Q) 80 3.0¢/Mnoes
) 60 3.50¢/notd &) 120 3.¢0¢/notd

10



If the car travels the distance of 240 km in 4 hour then the speed of the car is

A) 40 km/h B) 80 km/h
C) 60 km/h D) 120 km/h

6. FOTVIWLY YLOERMTIN WTMT LIFFT TIND LTI

D) BT TEPOT Q) BT WHEPIT

) BT PRI Q) oIPPTRe Y
Major phenomenon which causes rainbow is

a) Reflection of light b) refraction of light

c) diffraction of light d) none of the above
7. 59O0T WOBD, LIICIVFYT 03 m;% NTOTTEH

Q) PRFTO WO Q) M, WO

) A WO B) To0&eOD WO

kicking a ball with our legs is an example of force is

a) Frictional force b) gravitational force
c) muscular force d) magnetic force

8. 3p) WPOZT BT, WYOINT DFEP
D) BRWGT D) BAWVST Q) WAIRT  B) CRPTR BY

The unit of noice pollution(level) is measured in

a) decibel b) decimal  ¢) ppm d) none of above
9. JTIND I IR BORTOZ ReeBORTSS

Q) VHTOOT TRJF Y, W) BT T[YIWT,

) QUITHOT T3P R) JRITOOT JdTNF

e W T 23 3

star appears to move from

a) west to east b) south to west

c) north to south d) east to west

10. 2e03R00NA $TON TEFAT SReT

D) TWONLA0D0 Q) BRCRODO R) B0 &) B

metal reacts with water vigorously is

a) magnesium  b) sodium c)lron d)zinc

11



11. R FANRT FWFILFTED FONOWOT YVOLRTIT BOFT
) BdRLDON0 Q) QW ) BReT® Q) 3QTen

The fuel form by the carbonization of dead vegetation
a) petroleum b) charcoal c) coke d) coal

12. 3NeT $RTOD NOINR TTHOWOT m@se@dﬁ
@) NO2 ) SO, %) SO3 &) CO;

The pollutant which causes global warming is
a) NO; b) SO, c) SOs d) CO;

13. 2eIS POTIIONT), BFROBW BT L0325
Q) t%ﬁmwojao ) cméﬁxgjemé%em@
R) CRET’ Q) BZRednesz

The microbe that increases the soil fertility is
a) Rhizobium  b) Lactobacillus c)yeast d)streptococcus

14. 35 3INT 03PT WeNONY TRTTOTIFS TOWWITT
Q) Tow) Q) QN R) B R) IR

Which of the following animal undergo metamorphosis?

a) Snake b) fish c) frog d) crocodile

15. RWNTY TpoTRBFONY LOLRME WTCRBHRNAT TTLTT
TORPCET®

Q) HRRHT V) AINIT 1) wRFROT  B) WARRCTIT

The hormone which causes changes in boys during puberty is
a) estrogen b) insulin c) adrenaline d) testosterone

16. 000RIRFMT QU TS B FRNY T0DSCND), WERRORTT TAT

- D
R) oI TTVOT TIF Q) TAL TIYOZ TXT
R) O TTYOZ TAT B) TYD TTOT TIF

The book which keeps a record of all endangered animals and plants is

a) red data book b) green data book
c) blue data book d) yellow data book
skekoksksk
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1. A0203; 33, 0G) 2ITIT BB, IR, e3m,S o

A) 93 30 B) 0¥ WoR
C) TN, D) SOPACS
The court poet of Kanishka who earned the title ‘Sahithya Ratna’
A) Ashwaghosha B) Kalidasa
C) Vishakhadatta D) Nayasena

2. "ROR, 93 LIOROD SOBMEI, 973,83 DOT NERT OTBRELAS dG,0R"

A) BOT® B) D zoe3
Q) dDDO BRES, D) 2F0eE )T

The European scholar who remarked “Vocabulary of Sanskrit language is
wonderful”

A) Duncan B) Macaulay

C) William Jones D) Charles Wood

3. DTOSNTTODTOD AWA T, TSCAIHTD

A) FHCDHT® B) ToaeCeBCE3T®
Q) T2 ©0° D) FeRSO®

The member of City corporation (Mahanagar Palike) is called
A) Mayor B) Corporator
C) Councillor D) Commissioner

4. T3 LTT N33 4833330, A0S BRTI03I T33O0

A) BTRVOTES ALRONE T30
B) RRGFTT ALONE a0

C) NMOITI BRODE T3CeIOON
D) 2350300 RRONE TCeIOORN

The famous temple which highlights the glory of the Kashmir

A) Konark Sun temple

B) Modhera Sun temple
C) Gaya Sun temple

D) Marthand Sun temple

13



5. 32002303 B3R,
A) ToODNT3 B) 8300
C) 333¢D D) Bee3, )3

The birth place of Shivaji
A) Rayagadha B) Satara
C) Shivaneri D) Kolhapur

6. 'TZS0D DOTW' ROT TN, BRDOT
A) ®Rs B) BT () 3F,DD D) A3etH®

The continent called as Dark continent was
A) Asia B) Africa  C) Australia D) Europe

7. 2ENEAODNE). TReET AIPOTHO WP e3P DT,
DYTOYAT Jo0DT

A) /1 £30DA* ©O3eE B) a350638 X° ©RTFT®
Q) WO Wy ep® D) Zox® oA®
The leader who started religious reformation movement in Germany
A) lgnatius Loyola B) Martin Luther
C) John Wycliffe D) John Hus

8. BOIFOEN YBNEHY, '©9TT TLFCD' 0D, A, DATT
A) 233,03Ce300% 2,L30NT®
B) Do B TR, Do WwTODT®
C) To% .BONT®
D) 200F0NTI 20TONT®

‘Athara Kacheri’ the office of 18 departments was set up by
A) Chikkadevaraj Wodiyar
B) Krishnaraj Wadiyar IV
C) Raj Wodiyar
D) Jayachamaraj Wodiyar

9. 'S5 YOROID' D02 Ae0LT WIjadxd), 3TE3RATRI

A) TWOHOSOT RTA,3

B) T023000a3° a3/a3n® T3
C) BRL3IL0 PS

D) €3:) e3ROE3®

14




The newspaper ‘New India’ was published by

A) Dayanand Sarswati
B) Rajaram Mohan Roy
C) Jyotiba Phule

D) Annie Besant

10. “S[IN BT, TR, 0 DN A,303)5 FRTWIZLS" 02 T3 TRE@IT

A) MoORC3
B) AIPoR’ 30T SatA®
C) 2DoONOMIZT® 3OT®

D) 23n3® AOTY

The bold call “Give me blood, | will give you freedom” was given by
A) Gandhiji
B) Subhash Chandra Bose
C) Bala gangadhar Tilak
D) Bhagat Singh

11. YRINPD). AT3¢D modo3; 35300
A) To2300Ne3 B) 93¢ Do R,
Q) TDTOXINE D) 90&To

Foreign literary source among these is
A) Rajatarangini B) Arthashastra
C) Kavirajmarga D) Indica

12. A0BR-ATAE 8 DNDTIOD TJAT, AOWE LT A, My YTIY)TD

A) Setpoey I B) R3BOLRCTOTRETS),
C) BRLDITITE), D) FoD0ONT® I,
The famous public bath of Sindhu-Sarsvati civilization is in
A) Lothal B) Mohenjo-Daro
C) Dholvira D) Kalibangan

13. BRYT SBPI0RHONE), 3BT 2,0
A) MR B) 383,60 C) E5903; D) ISna

During the administration of Cholas Tara-kurram was a
A) Village B) Town C) Province D) City

15



14. Do%sTOA, TS DTN

A) €3T30 A, 3° B) B3B8t A*
B) 90X, 35 D) e3nas, Tetadd,

The father of Political Science is

A) Adam Smith B) Herodotus

C) Aristotle D) August Comte

15. 9nP) Cez003T de3030

A) N3 4E3° B) 2™,
C) 3%

D) A9, T,

Metamorphic rock among these is

A) Granite B) Basalt

C) Diamond D) Limestone

16. BCBO3e¢ 3TONNY, 230N BT RIS 2NN OTBET BLIT

A) OR_ F0N0OBO

B) e035033T SD0TBO
C) 2035eN0TBO
D) B0 20T

The layer of Atmosphere which reflects radio waves is

A) Thermosphere
B) Mesosphere
C) Exosphere

D) Troposphere

ekskkek
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1) *0309d,ead odeer BT’ 20 alred BIB TalnSea?

o) Red, 21 D) 80T 10 Q) &vexf 21 B) P30 28

When do we celebrate “International Yoga Day”?
a) July 21 b) Dec 10%" c)June21  d) Feb 28"

2) ‘RN’ 0w DTS, 093 3B WHFIUINHST.
Q) e wee® D) LIQex’ Q) &Bes* Q) Td

The term ‘googly’ is associated with which sports
a) Football b) Tennis c) Cricket d) Hockey

3) FPVBBE ©3B,08 BETBROIDE N3
o) B3 ) 3 ) 2033 &)

The brightest planet in solar system is....
a) Venus b) Saturn c) Mercury  d) Earth

4) L03T ©B03 BRG SO 3,
Q) Zox3ed D) abdwme Q) norme 8) VT, VS,

Which is the largest river basin in India?
a) Cauvery b) Yamuna  c¢) Ganga d) Bramhaputr

5) 030 0dyoa3 Beae) TREMIEDNY JDT BRLTIDIT !

o) BoR) T3 362 ) D9 53 30
2) 30 Sedriwd 8) w39,

Name of the component of blood that fights infection.
a) RBC b) WBC c) Platelets d) Plasma

6) 27903830 @3NeN BOITIRTY) AeBTINDE 2.Ed), BRI BB, MW

Q) 4 Q)7 Q) 10 &) 14

How many fundamental rights are guaranteed to Indian citizens

in the constitution of India?
a)4 b) 7 c) 10 d) 14

17



7) SP0DE ToSTYREB, DIDDTBD
D) B, W, ) 307, NI IR
Q) Zpes 8) JRIFES

Who founded the Mauryan empire?

a) Hakka bukka b) Chandra gupta Maurya
c) Ashoka d) Vishnuvardhana

8) Y03 omw), Wed BB’ FBeID), NQT?
Q)2 )1 Q) 4 Q)3

How many times has India won the ICC world cup?
a) 2 b) 1 c)4 d)3
9) 239030 adrod JNTRY) 'AOTIR® AEd” Dot FTLL) BDST.

o) B,B00 WorF ) 38 3EO
2) 4, &) orwed

Which Indian city is known as Silicon valley of India?

a) Hyderabad b) New Delhi
¢) Chennai d) Bengaluru

10) B0@0H0°R DEW 20T BIITRY, FcdwFeas?
Q) O DF D) A )33 8) 3P

Which is called the brain of computer?

a) Key board b) CPU ¢) Monitor  d) Mouse

ekskkek
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on-Vii

1) 2 R, 2) I BeedRTY BeWTY.” WBD IF Fodbod
oAt w e . B8, TIN aFenSeR?
Q) SV ) 3B, Q) Imeed &) I

Introducing a man, a woman said, “He is the only son of my mother’s mother.”
How is the woman related to the man?

a) Mother b) Aunt c) Sister d) Niece
2) Ve, Beed Joslab ) BoDdBAd: 2, 5, 10, 17

a) 21 b) 26 c) 27 d) 29

Find the missing numbers: 2,5, 10,17
a) 21 b) 26 c) 27 d) 29

3) B3300d 0ed B BYB0B WYY, BeeBITen BAJahY S &3

a) Heavy b) Hectare  c) Harvest d) Heaven

If we arrange the following words in a dictionary which of
them would come in the last.
a) Heavy b) Hectare c) Harvest d) Heaven

4) 3T D) TBIe BT3B o3B3 Bwede BB, Fowog 3O
7 30 @ 17 @ °?

a) 210 b) 54 c) 18 d) 70

.Match the second pair of numbers in the same way as the first pair.
7:30 = 17 @ ?
a) 210 b) 54 c) 18 d) 70

5) 880 To 3 RpeserteRd: EGIK @ FILO : FHIL @ 7?

a) GJMP b)GMIP  ¢)JGMP  d)JGTM

Complete the given analogy by selecting the correct answer from alternatives.
EGIK : FILO @ FHJL @ ?
a) GIMP b) GMJP c) IGMP d) JGTM

6) BUSRD), 42 00z 230ereNds. Hermesd COWRY, &ert 2550amd.
a) 41 b) 25 c) 18 d) 17

19



BUS is coded as 42 in certain language. Then COW can be coded as

a) 41 b) 25 c) 18 d) 17
7) Se3yBabe) Ded)BpeNDHES DBosk,0dY, w3

27 6 9

125 3 8

8 4 ?

a) 9 (b) 6 (c)3 (d) 2
Find the missing number in the given matrix?

27 6 9

125 3 8

8 4 ?

b) 9 b) 6 )3 d) 2

8) < * w5k TOWNG B YR WP FDeSTEITY, BTV
6*8*9*7
a)x1<1x b)+1>1+ C)+’-1: d):lxl+

In 6*8*9*7 the suitable operation is.........

a) x,<,x b)+,>,+ c)+,-,=d)=,x,+

9) Toavy Tjee3adh) Se, W Josl; Bo&HIBAD : 2,3,5,7,9, 11
a) 3 b) 5 c) 9 d) 11

Find the wrong number in the series?
a) 3 b) 5 c)9 d) 11

10) e1pededD S DIW0T 15 3,be HLBTE, SBW B3, SHA 10 3,cbe

SBnZS. DB B3, AN 5 3.cbe IBWTS. BRI eSS, SN
10 3,ce IBAWTIN. BN WTD S DIWT read BE,FOTY?

o) BT D) I ) 6u3 8) 336

From his house Lokesh went 15 km to the north. Then he turned west and
covered 10 km. Then he turned south and covered 5 km. Finally turning to
the east, he covered 10km. In which direction is he from his house.

a) East b) West ¢) North d) South

ekskkek
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